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Third Semester B.E. Degree ExamirlQ#hffi, June/July 2gL9

Electronic Gircuits
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"dxt$eu P
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*
* Max. Marks:100

Note: Answer any FlVffiPquestions, sereclrrg@
at least iwoffisfioisfrom eacftparffi-4{k*Y " 
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W xryo#mFig. Ql (b)

a. With the fr$fficfraracteristic m#S,' explain tf,. Witing principle of Depletion
MOSFET. *-ffi" ffi"*u , d (10 Marks)

&

Wh,Fis el (b)

MOSFET. W ffi"*u * {P (10 Marks)

b. A circuit,usiag b-tvtOSFET isffioffi{n Fig. Q2 @)ffiven that the threshold voltage for the

MOSjW 2Y, and. Irro*r ffip^ for Vorto*r 
@** 

Determine the value of the operating

poinffi 
,*m " ${rrn 

(10 Marks)
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(iii)
(v)

b. Defure an lers. Explain arLy two

Fig. Q2 (b)

(ii) Illuminance.
(iv) Response time,

optocoupler parameters

(10 Marks)
that define the

(10 Marks)performancem f an opto co upler.
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4 a. With the help of circuit diagranr, derive an expressa: ffint 
gain (A) of 

?ff'rtrfJ
b. ffilr'}fl"|* e{fect of cascading amplifier stages "k$ffmrall 

frequencv response of the

amplifier. #%' (10 Marks)

5 a. What is the significance of second;"d* t%ic distortion in a larry signa' t}If":t'
Derive ar, .*prlsion for the second tar*ilffik &istortion^ _" " rffi 

(10 Marks)

b. An amplifieiwithout feedback tras a vffi{euin of 100. The defofipY decides to use 10%

negative reeOUact to bring the no-ffi&iisiortion.to P.r:.,.p#?q: 
,:::l ::::Tit"il;

;;ffi;"*;ilitf,;;; inJ ,*'.#ffi feedback. If the desffifrhe of gain with reedback

is 50, what should;t#;;ffifreduack factor? ffi . . ^ 
(01'*:1'].

is 50, what should ur that caserung'reeoDacK ractol c:6v
c. An a-mplifier without feeaUpc&ffi a voltage gain of 50, ffi resistTtt:f 

' 
OP '* ",Y]lY

resistance of 2.5tCl. CurcJA&fr. input resislance o;f th€ current - shunt negative feedback

urpiin.. nurins a feedffihtabtor ofb.2' *K* 
(04 Marks)

ffiWffi
6 a. what are the nr..grffiEnditions of loop gain %ffu6op phase shift for su.stained oscillations

;;;;;dt";"i;;dW.; riit.rionr wui is-ttq t8op guirri" practical oscillators kept slightlv
according to Bq$Fm*sen criterion? why is tQ lbop gain ur practtcal oscrllators Kept sIlgNIy

gr.ui., tfran uffi ' orryM (06 Marks)

b. frfnut *.,.tq*uWoscillators? What ,q,py crystal oscillator exhibit exceptionally high

&M,-*
u.fl

gfeater than

\d d iiq$ff' ,\

7 a. Briefly describe the tunctipn$f each of the .Sr{t$hffit parts of f}yu linearly regulated

po*.isupply. -@ ffiru*. W: (06 Marks)

b. With the help of basi.'ffiryhit configurationffit[dfiy describe the pndfational principle of the

following t*ittt iog r5slifitor circuits: -r**PW ffi(i) Bucktqgdlator. ffi# ffih-

c. A ilffial is characterizedffi*= 2'5 H, R = 1 5& Cs = 0'01.pF and ,ty ]-t li;*e;Eial is characterized.hfoL = 2.5 H, R = 1 S#, Cs = 0'01 pF and cv = IU pr

ildffir.ii. Determine the serffi$frd'parallel resonffiW'uencies of the crvstal. (08 Marks)
=1ffi,Cs
nanffienc

(i) Bucktqgulator. *%*.t fl*;5(iil Bqffiulator. d3ilh * %l
iiiil nffifloost regulator. ffiJ .,i s 1: y"::l

c. Compare rine*5ra s*ittfr-ogph#.r supplies. dd- (02 Marks)

\ tuffi nJ\&
ffiffi

r*'i#n absolute value Draw the circnWffchematic of one such circuit configured8 a. Wha*'isln absolute valt

*oufiffip-amp and brie*ouf;ffip-amp and Urieg$ffi$ribe its tuncqpndl principle. (10 Marks)

b. *w66t is irre 111uio uo+flfttffi of using aaqobpaiator wlttr hysteresis over a conventional

@.purator? Explaffittfite help of relffi transfer characteristics. (10 Marks)or? Explainxpitffihe help of relf*fant^ &"f*w& - "'*,r

ffi "dPX&il'E$ &,q{$Se/ \
*s" adp ldMtr|({.**
W d.3,

r@k w,r Ws%,& Ylb s/
Wi$

&
@

d
n

.W
q@&'

d&
W

dffi
fl*}},

2 of2


